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Pipe & Cistern-2 (Capacity Type) MATHS BY SACHIN BALIYAN SIR



A pipe can fill the tank in
40 min, then find in how
much time the same tank
can be filled by another
pipe having twice the
diameter of that pipe? Tdh
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(a) 20 min (b) 34 min
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1
In what time cistern fills by three pipes whose diameter are 1 cm, 1 5 ¢m, 2 ¢cm running

together when largest pipe alone fill it in 61 min. While the amount of water flowing by

each pipe being directly proportional to the square of its diameter. fora o fawed /i

UTSUT ¥ 9T 8, fSreent same 1 9, 1 %ﬂﬁ,zﬁﬁ%,Wmawm%m%ma@ﬂ
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(@) 32min  (b) 34 min (c) 36 min (d) 42 min (¢)None of these



CLASS EXERCISE

1 1
The radius of three pipes are in the ratio 1 E 1 E E . If Smallest pipe alone can fill the

tank in 2 hr 38 min and the amount of water flowing by each pipe being directly

proportional to its cross sectional area. In what time three pipes together fill it? o= grgar
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(a) 9 min (b) 18 min (c) 15 min (d) 6 min (¢)None of these







Capacity Based Question



CLASS EXERCISE

Two pipes A and B can fill a tank in 5 min and 7 = min respectively while waste

pipe C can empty 42 lit water per min if all pipes are opened when cistern is full it

is emptied iﬁ 1 hr.}Huw many lit does_the cistern hold? =T UT3T A 31T B HHI: 5
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(a) 60 lit (b} 90 lit (c) 105 lit Lyt




CLASS EXERCISE

A cistern has a leak which would empty it in 6 hrs. A tap
is turned on which is filling 2 lit per minute into the
cistern, then they now empty the full tank in 8 hrs. How
many lit does the cistern hnld'? Eﬁﬁ' a3 o
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(a) 2160 lit (b)
it (e)None Y%




There are three pipes A, B and C attach to a mstern If A can

CLASS EXERCISE

fill the tank in 20 h while B can fill it in 30h while 3" pipe is

emptying pipe which is emptying @ 64 I/min. If all the
ned togethier then the tank wil

uf the tank'? Th eH T

three-nipes are ope
' Now find the capaﬂ
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6 emptying pipes, each capable of empty it in 20 mifi
pipes are npenend as a result tank fil
water per min. Find capacity of tank. 10 43 4TI« |
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(a) 360 Iit (b) 400 it (c) 440 lit 8 0
(d) 480 lit (e)None of these







CLASS EXERCISE

Two pipes can fill a tank in 30 hrs & 45 hrs. Both opened to fill the tank but when the
|

2
tank was — fyll, a leak develop in the bottom of tank through whic Euf the water
supply b }- es start leaking out . What is the total time to fill the tank? =T 9Ts9q
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w (b) 45 hr (c) 60 hr (d) 90 hr (¢) Nong/Of thésck b‘)
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CLASS EXERCISE

There are three pipes A B and C are attached with tank which can fill the tank in in 20

h, 3: h and 15 h . All the three pipes are opened together to fill the tank but when tank
3
WHS Et full a leak develop in the Hottom of tank through whicliﬂne third of the wateb
u vl the pipes start leaXing out . In how many much time tank will full? CiE]
UET AB 3R C FRU & o1 ¢eh &l 20 h, 30 h 31T 15 h H 9T TR 2| S AT

r

3 -

mﬁ%ﬁnnﬁmmﬁaﬁ@w@mm%ﬁmmﬁgﬁmﬁh%
ﬁﬁﬁﬁﬁﬁmﬁﬁﬁqﬁﬁmm_ LRSI ﬁ'wmﬁmﬂ =5 U 'L)l
freTs armafd ek &1 et 21| o o 1 g 9 n
(a) 4.2 hr (b) 4.5 hr {c) 6 hr

{e) None of thes




CLASS EXERCISE

A Tank can be filled by two pipes A and B separately in 15 and 20 hours respectively. Both the pipes
'
are opened together to full the tank but being clogged for sometime due to which 3 part of water

flowing through former and " part of water flowing through latter pipe . if obstruction is removed

then cistern take 3 h to full from this point . find after how much time problem is resolved?U<h el
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(a) 42 hr (b) 4.5 hr (c) 6.5 hr (d) 9.0 hr (e) None of these



CLASS EXERCISE
A Tank can be filled by two pipes A and B separately in 15 and 35 hours respectively. Both the pipes

are opened together to full the tank but being clogged for sometime due to which > part of water

flowing through former and P part of water flowing through latter pipe . if obstruction is removed

then cistern take 3 h to full from this point . find after how much time problem is resolved?Ueh 2<h i
THAIT: 15 3R 35 U W 3T UTST A 3R B FRT S-S 9T AT TRl g ¢k i U i oh (10 ST qT3di
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(a) 42 hr (b) 4.5 hr (c) 6.5 hr (d) 9.0 hr (e) None of these










CLASS EXERCISE

8 taps are fitted to a water tank. Some of them are filling and the remaining are outlet taps.

Each filling tap can fill it in 12 hr and Each outlet tap can empty it in 36 hrs. On opening,

all the taps, the tank is filled in 4 % hrs. Find the number of water taps that are filling the
tank? Teh UTHT hl ZehT H § 7T o171 & 37H © Y W T ¢ AR N ATFEAE A 81 Tedeh WA
TAT T TH 12 °E T W TehaT & 3T T HTITAC T 3H 36 T | @TeAT Y TehaT 2l AT
et ot e T 2t 4 wf o e &1 S o o et e 35 it ot v A
(a) 4 (b) 6 (c) 2 (d) 5 (e)None of these






